124. Ifx : 3 4 5

y : 15 18 21
then equation of y can be represented as
(@ y=3x+2
(b) y=3x+6
(&) sy¥=x+12
(d y=2x+9

125. Which of the following cannot be obtained by graphical method ?
(a) Arithmetic Mean
(b) Median
(c) Mode
(d) Quartile

126. In a frequency distribution which of the following may have more than one value ?
(a) Arithmetic Mean
(b) Median
(c) ‘Mode
(d) Geometric Mean

127. The value of the polynomial expression :
x2 - 4x +3is zero if x is

(a) Oor2
(b) 3orl
(c)- lor4
(d) —2or2

128. For a distribution Mean is 70, Median is 75 and Coefficient of Skewness is (-) 0.8. The
coefficient of variation is

(a) 85

(b) 26.78
(c) 25.68
(d) 72.50

129. The sum of binomial coefficients in the expansion of (1 + x)" is

(a) 2n
(b) 2"—1
) 27+1
@ c,

130. If|A |=15,]|A,|=8,|A5]=6and |A| 0 A, N A;[=3then |A; U A, U As| will be
(@) 582
(b) less than or equal to 23

(c) greater than 32
(d) greater than 23
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On a circle of radius 4 units, there are two points P and Q. The maximum length of arc
which separates P and Q is : (where ©t =22/7)

(a) 8m

(b) 4=

(c) 4

(d 2=

The arithmetic mean of some observations is — 4 and harmonic mean is — 9. The geometric
mean will be

(@ -—-13

(b) -6

(c) -18

(d -36

Twenty years ago the ratio between the ages of Hari and Manu was 1 : 4 and at present, it is
1 : 2. What is the age of Hari at present ?

(a) 25 years
(b) 30 years
(c) 35 years
(d) None of the above

What will be the next number in the following sequence ?
9,8;8,8;7,8;6,
(a)

4
(b) 5
() ©
(d 8

Which one is the wrong term in the series ?
8,13, 21, 32,47, 63, 83,

(a) 21
(b)y 13
(c) &3
(d) 47

If the length and breadth of a rectangle are each decreased by 20%, then the percentage
decrease in area of the rectangle will be

(a) 20%
(b) 40%
) 36%

(d) None of these
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9,8;8,8;7,8;6,

(a)

(b)
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d 8
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135. = Soft | ToTq W BT AR 2
8,13,21,32,47,63,83,
(a) 21
(b) 13
) 83
d) 47
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